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SECTION-I
qEgfIss 9¥a (Objective Questions) Full Marks : 50
quiis : 50
wﬁwﬁsoaﬁﬁﬁgﬁﬁwsﬁ,@.arﬂ.mwi | WIT W& 1 9 50

9% o1 TP U 1 AF Bl 2|
In section-1, there are 50 objective type questions to be answered on OMR sheet. Questions
numbers 1 to 50 carry 1 marks each.

L-uaﬂﬂ'@n1ﬁsow%uﬁﬁmﬁmﬁmﬁqwéﬁlﬁﬁwﬁmﬁ
2| ud Rwen fafsa X |

In question nos. 1 to 50 each eugestions has four alternatives of which only one is correct.
You have to choose the correct alternatives. 50x1=50

1. ﬁw%mﬁﬁaﬁﬂmﬁﬁuﬁ@n%?

Which of the following is an irrational number ?

1 1
@ 5 & 2 © T © i

2. Y o, pIEIS p(x)=x2+x+l'cf} AP a1, é+%=

If o, P are the zeros of the polynomial p(x) = x2 +x+1 then Elx-+-‘1§=
(a) -1 )1 (c) 0 | d 2
3. ﬁqﬁ-rﬁim-ﬁﬁ%ﬁmﬁﬁmmﬁam?ﬁ%?

Which of the following have a non-terminating repeating decimal expansion ?

@ 3 ®) © + @ =

T
4. 1 -

T .

Z 18—

(a) TRAYT HEAT (Rational number) (b) arqfa §=A1 (Irrational Number)

(c) UTd WEAT (Natural Number) @ 5™ 4 @ig A8l (none of these)
s wiae A L2218 @1 wdaR g
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@ 5 ® 3 © % @ 2
6. it auarg e ad g |

All equilateral triangels are ...........

(2) @alT@A (congruent) (b) TAEY (similar)

(c) gt R gy ZY (congruent and similar both)
(d) ?{FITT | aﬁé 8l (none of these)
7 fpdl gaag g ABCH afX ADLBCH
In an equilatcral triangle ABC if ADLBC, then—
(a) 3AB2 =2AD? (b) JAB2=3AD? (c) 4AB?= 3AD? (d) 3AB2=4AD?
o afy WR@Or 2+ dx+ k=0 T areafys Al s 8, o
If the equation x2 + 4x + k=0 has real and distinct roots then.
(@) k>4 (b) k<4 () k=4 d) k<4
9, ufx ApattaQ@= odrd frdl T W <) vl Ya@Td g9 VPR © f5 ~POQ=110°T

ZPAQ = .o
If AP and AQ are two tangents to 2 circle with centre O sO that ZPOQ = 110° then ZPAQ=...

(a) 75° (b) 65° (c) 70° (d) 45°

10, k@ e & fag wlET remE ko-y=2,6x-2y=3791 afgdia & -
The value of k for which the system of equations kx —y = 2, 6x — 2y = 3 has a unique solution.
(@ k=0 ® k=0 (c) k#3 (d) k =3

11. afx sin9=% dl cosb = ....

If sin9=% then cosB = ...

@ 42 ¥oF © ¥ @ 3
12, froma €g9g 2-15 @ AT B

The zeros of quadratic polynomial x2— 15 is—

(a) 15,~15 ®) —J15,++15  (© 0,5 (d) 25,-5
13.qﬂaﬁa1ﬁ=;a’fq\'qﬁﬁéaasﬁmaﬁmaﬁ ............ Ped & |

A line intersecting a circle in two points is called & .oeeeee-

(a) Tqel ¥ET (tangent) (b) SfiaT (chord)

(c) fa=ar (radius) (d) sﬂ'ﬁ £ ’CE’I'&‘ J8Y (none of these)

14, Ra=ga @.3)8R a,-ns fa o gl a—

The distance between the points (4, 3) and (1,-1) 15—

@)
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15.

16.

17.

18.

19.

20.

21.

22.

23.

(2) J5 S®IS (units) (b) 5F®BTS (units)

(€) J11 SDIS (units) (d) 11 SHIF (units)

amETe @ Bisar 7 9o e Rrfe Saig 10 9. 9@ gl g @ 9w I
A% BHN—

The curved surface area of a right circular cone whose radius of the base is 7 cm and slant height is 10
cm—

(a) 110 912 (cm?) (b) 210 9.2 (cm?)

(c) 220 9.2 (cm?) (d) 200 .2 (cm?)

2,3,1,5,2, 6 ®T AEAD B—

The median of 2, 3, 1, 5, 2,6 is

(a) 1.5 (b) 2.5 (c) 2 ) 3

r Brourarel FEMA &1 Aga 8-

The volue of a hemisphere whose radius is r—

1 4 2
(2) 37 ® 37 (€} 57 @
Prefafaa § ¥ o Bl weT 3 wifiiear 98 81 Hadi—

Which of the following cannot be the probability of an event—
@ 3 () 0.6 © -15 @ 20%

fag (4,7 5w urg ¥ Reg 2 ?

The point (4, —7) lies in which quadrant ?

(a) 99 UTq (First quadrant) ) feg 91g (Second quadrant)

(c) Geild 9T (Third quadrant) (d) agef UTE (Fourth quadrant)

AR AQ) 10,7, 4, ..on..... T 20 9f U< BT

The 20th term of the A.P. 10,7, 4, ....... is—

(a) 97 (b) 77 (c) 67 (d) 47

2 ued Prel & TiRaEEl B Fu 4: 98, @ & Prslt @ d9%d 31 IguT
2HT—

Medians of two similar triangles are in the ratio 4 : 3 then area of these triangles are in the ratio—
(a) 2:3 (b) 81:16 (c) 16:25 (d) 16:81

AfE e +bx+c=07® T GAF B, @l c=.......

If ax? + bx + ¢ =0 has equal roots thenc = ......

2 2 -
@ 2 ® © 5o @ 5

ﬁ$wmmmmﬁﬁwuﬁ.sﬁ?ﬁwﬁ%’waﬁww%-

The are of the sector of a circle whose radius is 14 cm and the angle of sector is 90°—

3)

Y
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(2) 7n QL2 (cm?) (b) 49m AHL? (cm?)
©) 14 n 9.2 (cm?) (@) 196 n AHY2 (cm?)
Sin2A = 2sinA 04 AT BraT 8, Sdid A RN 2—
sin2A = 2sinA is true when A is equal to—

(a) 30° (b) 45° (c) 60° ) 0°
aﬁﬁfm&wmcﬁuﬁmgwﬁﬂmmaﬁwuwuﬁmﬁm%%
AD _AE
DB~ EC
. S . AD _AE
In any triangle ABC if DE intersect the sides AB and AC such that 55 =F~ then—
(a) AB I' AC (b) DE I BC _
(c) DE=BC (@) 379 & @Ig &l (none of these)

26, feETd 489S 32 -3x+1® Al BT WABA T

|
| The sum of the roots of quadratic polynomial 3t —3x+ 1is—
|

@ 1 ®) -1 © 3 @ 3
27, sin? 29° + sin? 61° BT AT B

The value of sin229° + sin? 61° is—

(a) 1 (b) 2sin?29° (c) 2cos261° (d) 0
28. fasg (-7, 3R (-3,2) @1 FEm ardl | a1 Heafag, 8—

The mid point of the line joining the points (-7, 4) and (-3, 2)—

(@) 2,3) (b) (-5,3) (c) 3,-5) (@ (3,2)
20, uf% AABC- ADEF, ZA=57°, /E=63°Td LC=?

1f AABC~ A DEF, ZA = 57°, ZE=63° then ZC =7

(a) 50° (b) 70° (c) 60° (d) 90°
30. (1+tanA +secA) (1 +cot A —cosec A) ST z—

(1 +tan A +sec A) (1 + cot A — cosec A) is equal to—

(@) 1 (b) 2 ©) 0 (@ -1
31 ﬁr@hﬁqaﬁymaﬁ{ﬁwﬁﬁmm%—

The distance of a point from the y-axis is called—

(a) y- Frdei@ (y- coordinate) (b) - A® (x- coordinate)
(c) y-31&T (y- axis) (@) B (ordinate)
32. ?ﬁsﬁé—m —4) 3R (1, —2) BT Ararareh YErEvs ot - 3@ Ry sgu 3 qredl
. d8 &—
The line segment joining points (-3, —4) and (1,-2) is divided by y-axis in the ratio—
(a) 1:4 (by4:1 (c) 3:1 (d) 1:3
33. tan A &1 HSbH B—
The reciprocal of tan A is—
(a) sinA (b)cos A (c) cotA (d) cosecA
34. ﬁmﬁ@ﬁﬁﬁaﬁﬂﬁﬂﬂﬁraﬁmqﬁ%?
@

Ve
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35.

36.

37.

38.

39.

40.

41.

42,

43.

Which of the following is not a measure of central tendency 7

(a) A& (Mean) (b) dgcl® (Mode) (c) Hifea®T (Median) (d) TR (Range)
mﬂwaﬁﬁwaﬁﬁ.aﬁ??ﬁmﬁzﬁ.mﬁamaﬁmwsﬁrﬁ.
ﬁmﬁmqﬁgmwﬁlﬁa%mwaﬁﬁrw%—

A cylinder with base radius of 8 cm and height of 2 cm. is melted to form a cone of height 6 cm. The
radius of the base of cone is—

(@ 59, (cm) () 4L cm) (@) 6 AN, (cm) (@ 89 (cm)

12 cosec? A — 12cot2 A TRTER B—

12 cosec? A - 12cot? A is equal to—

(@) 1 (b) O (© 9 (d) 12

va Fifad geat & wifwar gidr 8-

The probability of a sure event is—

(@ 1 (b) -1 (c) 2 (d) 0
uﬁ:qaﬂmﬂa%qﬁﬁ2ooﬁ.agﬁuﬁﬁ:§qvtﬁmv$rwaﬁwso°%,m
AR a Sag B

If the angle of elevation of 60° from a point which is at the distance 200 m from the foot of the tower
then the height of tower is—

2
(2) 100y3 e (@) (®) 2003 (m) (©) 5043 (@) (@) %ﬁt- (m)
nﬁ:wﬁ?ﬁpﬁoaﬁ'mﬁﬂﬁqﬁwm,mwﬁw&wwsma%mw

g 2 A LPOA FAX 2
If tangents PA and PB from a point P to a circle with centre O are inclined to each other at angle of

80°, then ZPOA is equal to—

(a) 60° (b) 70° (c) 80° (d) 50°
tan 9°. tan 81°. tan 60° ERTdX -

tan 9°. tan 81°. tan 60° is equal to—

1 1 1
@z  OF © V3 @ 7
Prefufaa § ot o Tgue 2, Res = 5 AR -3 2—
Which of the following is a quadratic polynomial whose zeros are 5 and -3, —
(a) X2 —2x+15 (b) x2—-2x-15
© x% +2x—15 (d) T @ @Ig “Tel (none of these)
uﬁqaaﬁﬁhmaﬁmﬁqaaﬁﬁmm%mﬁmﬁﬂmmﬁwmw
BV AN B—
(If the length of the chord of a circle is equal to radius then angle subtended at the centre by chord is}
(a) 60° (b) 120° (c) 90° (d) 130°
fETT 9EUS bx + ax + =0 @1 fAfaER BHI—
The discriminant of quadratic equation bx? + ax+ ¢ =0is—
(a) b? - 4ac (b) ¢ -4ac

)
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(c) a® —4bc (d) 3T% | @Iy T8 (none of these )
44, WiGR AL 5,8, 11, 14.. D Y 24 4T BT AT B~

The sum of first 24 terms of the A.P. 5, 8, 11, 14, ...

(a) 946 (b) 948 (c) 940 (d) 950
45. af¥ 3A=90°@Y sec A BT AT 8—

If 3 A = 90° then the value of sec A is—

1 2
@ 2 ® 5 © 3 @ 5

46. <1 HOF g G H1 HEAH GAMad S S

The HCF of two consecutive even number is—

(a) 2 (b) 1 {c) 3 (d) 5
47. sind8° — cos42° ®T A BT

The value of sin48° — cos 42° is—

@ 1 (b) 0 © 2 @ 3
48, afe AABCS ¥iST @ Fram® A2, 3),B (4,5 T C(7,2) 8, T AABC®T BAGd ENM—
If A(2, 3), B (4, 5) and C(7, 2) are the vertices of AABC then the area of AABC is—
(a) 59 sﬁw‘lg (square units) (b) 7a Fh‘fg (square units)
(c) 6 @il sTbT&‘F (square units) (d) 49 s_tﬁﬁ {square units)
49, cosB xtanO=........
(a) sin® (b) cos20 (c) sin%0 (d) cos@
50. mﬁﬁwwﬂﬁ:wﬁm%ﬁwﬁﬁwﬁaﬁﬁh—

If two circle touches internally then the number of common tangents will be—

(a) 2 ®) 1 (©) 3 (d) A (infinity)
g us-li
SECTION -i
X s W9 (Non-Objective Questions) Full Marks : 50
g Suda uH (Short Answer Type Questions) qutid : 50

frder - e G141 Q 22 9% ageTda yH € | $ § @Td 15 U BT I
2 | 39 I @ yde yvA B fag 2 ofw FaiRa 2 |

Instructions : Question nos. 1 to 22 are short answer type. Answer any fifteen questions out
of the following. Every questions carties 2 marks. 15x2=30

L 180®) FHST UFEE @ (UG @ WU § o DI |

Express the number 180 as a product of its prime factors.
2. TEUE 623 -Tx® YAS WA B |
Find the zeros of polynomial 6x* — 3 — 7x.
3. wAiaR AL 3,8, 13 ... 2531 3id € 20 &1 U AW P |

©

g
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10.

11.

12.

13.

14.

Find the 20t term from the last term of the AP 3,8, 13 253,
yﬂﬂﬂﬂgﬁﬁzmaﬁfmm(s,l)sﬁ?m,mﬁm% |
Find the point on the y _axis which is equidistant from (5, 1) and (4, 2.

Rig T f& 345 T Fufey e 2 |

Prove that 3++/5 is an irrational number.

G| 3x2—2x+-_1;=0aﬂ fafigax o ST |

Find the discriminant of the equation 3x° ——2x+%=0

af HCF (18, 504) = 18 @1 LCM (18, 504) ST WIS |
(If HCF (18, 504) = 18 then find LCM (18, 504)

o . 31
ﬁmaﬁﬁmuﬁmmmﬁsﬁmwnﬁﬁﬂm o35 1 wEEed
— L

31
Without actually performing the long division. State whether the rational number 1555 will have a

terminating decimal expansion or non-terminating decimal expansion.

wu fag @ Faie 9 e, & Rsgal (6,3) 3R (4, 5) @ Per T YErEs
& 3.2 anqura ¥ famifea B 2 |

Find the co-ordinate of the point which divides the line segment joining (6, 3) and (~4, 5) in the ratio
31
wﬁwmeaﬁgwmwwﬁowmﬁméﬁ4ADC=/_'BAC% |
zansu f& CA2=CB.CD.

D is a point on the side BC of a triangle ABC such that /ADC = Z/BAC show that CA2=CB.CD.

afr cotA=tan Bl Rig HT f& A+B=90°1

¥f cot A = tan B then prove that A+B=90°
wmﬁwmeaﬁgmza% | ggd e o BT |

The side of equilateral triangle ABC is 2a. Find the perpendicular distance from vertex.
pmmmaﬁmvﬁﬁﬁfﬁmdaﬁmm 142 |

Find the value of p if the arithemetic mean of the following data is 14.

%[5 [10 [ 1512 75 |
. | 7 D 8 4 5‘,
wﬁﬁAﬁwqﬁwwﬂmaﬁaﬁﬁ12@1ﬁ.aumaﬁ$¢ﬁ@13@rﬁ.
é.mﬁaﬁﬁmwml

From a point A the length of tangent to a circle is 12 cm and distance of A from centre is 13 ¢m. Find

the radius of the circle.

7
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Ife sin(A-B):-li,cos(A+B)=%, STEf 0°<A+B<90°%A>B, @l AN BoE DIfore |

If Siﬂ(A—B)=%,COS(A+B)=% , where 0° <A + B <90°,A> B find A and B.
gfreara R @ P Wa® R T BT @ BIVY © x+y= 143 x-y=4

Solve the following pair of linear equations by substitution method : x +y=14andx-y=4
qasqmaﬁtﬁaﬁwsfaiza%wmaﬁmﬁwmaﬁﬁm |
Find the probability of getting a number greater than digit 2 in the throw of a dice.

18. Preafufaa de &1 dga® G MY |

Find the mode of the following distribution

1} — HeRTA

class ifiterval 0-1010-20|20-30|30-40 40-10(50-60
i Sl 5 14 8 22 20 12
‘ Frequency

19.  4cot’45° + cos?4S® — 25in30° BT WM =A@ ST |
Find the value of 4cot?45° + cos245° — 2sin30°
20. aifyd BIRT 5 4 (1.5,3), B(6,-2) AR C3, 46 B |
Prove that the points A (-1.5, 3), B (6, -2) and C (-3, 4) are collinear.
| 21. 20w$wwﬁ4mw%lwwﬁﬁwﬁmﬁmm
3 | sad T wilk@ar @ 1% 98 9 @¥d ' 7

A lot of 20 bulbs contain 4 defective ones. one bulb is drawn at random, what is the probability that
this bulb is defective.

22. ﬁmaﬁﬁwﬁsﬁwﬁﬁ$ﬁﬂﬁm$ﬁrﬁwﬁﬁiﬂéwﬁwmm
g 1

Prove that the tangents drawn at the ends of a diameter of a circle are parallel.

A gadr ye  (Long Answer Types Question)

ﬁéw:m-ﬁwzsﬁ2eﬁdﬁ\ﬁumélwaﬁﬁt$uﬁ$uﬁ$msﬁ
frenfRa 21 ‘

Instruction : Question nos. 23 to 26 are long answer type. Each question carry 5 marks. 4%x5=20
23. U@ WAETg TS &1 B 173205 cm? & | 59 g @ ye e B I AR
ﬁgﬁﬂﬂgma%mQH%awaﬁﬁwaquﬁmm% | Brgw & 99
AT BT AAGd o Y o gat @ 98 Ry @ ? (n=3.14 R
The area of an equilateral triangle is 17320.5 cmZ. With each vertex of the triangle as centre, a circle
is described with radius equal to half the length of the side of the triangle. Find the area of the triangle
not included in the circles. (use t=3.14

qdr (Or)
: waﬁﬁqﬁﬁm@ma}mmﬂéﬁmwwﬁ?ﬁﬁﬂﬁmﬁaﬁl

8)
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25.

26.

39 Y@ B SAE 2cm @ AN IR T AW 4em 2 | 79 Rl &1 araas fFailRa
R | A @ o9 g d99 g9 Rael @ ol O dea SR Raels @
AGAAl DT HaX I BN ? (n=3.14 Q)

A solid toy is in the form of a hemisphere surmounted by a right circular cone. The height of the cone
is 2 cm and the diameter of the base is 4 cm. Determine the volume of the toy. If a right circular
cylinder circumscribes the toy. Find the difference of the volumes of the cylinder and the toy. (use n =
3.14).

sin6—2sin" 0

Prove that (Rig ®Rag) ——>_  _—tand

2cos’ 8-cos©
34t (Or)
10m e 7T @ RIEX 9 U Dad cfax @ PR &1 9149 ST 60° 8 IR 39
1€ BT AT BT 45° 2 | SfaR B Sa18 A1 IR ?

From the top of a 10 m high building the angle of elevation of the top of a cable tower is 60° and the
angle of depression of its foot is 45°. Determine the height of the tower.

Solve Graphically (IT®I fafer @ sa HIRT)
x+y=3
Ix-2y=4
YAT (Or)

ﬁﬁwﬁmmw%lmqﬁﬂu’t‘réé | HEmg o HifIg?

The sum of two numbers is 16. The sum of their reciprocals is % . Find the numbers .

fig o 5 ol & P B v a1 ® Wi a4 <1 ol & wioresfad v
&¢ Y@ i omg at 98 9= & genet B  F @ agua ¥ famfya el 2 ?
Prove that if a line is drawn parallel to one side of a triangle intersecting the other two sides, then it
divides the two sides in the same ratio.
#Y4Ar (Or)

4cm, 5cm @R 6em YOS 9Tl UH Pras A1 @ PRY AR Y 560 w67 @
a1 Pt Y <o AR, R et Ry ge e A W sgenel @ 2 T
g |

Construct a triangle of sides 4cm, 5 cm and 6 cm and then a triangle similar to it whose sides are % of

the corresponding sides of the first triangle.

€)




I<I¥HT T
(ANSWER)
wue-1

Section-1
2@ 3@ 4| s®][6® ]| 7@ 30 | 90 10. (c)
12.®) [13.0) |14 (o) [15. (© [16. ®) [ 17. © | 18.(0) | 19 () 20, (d)
21.(d) |22.() [23. ®) |24. (@) [25. (®) [26. @ | 27 (@) | 28 ® | 29. © |30. ®)
3L.(0) |32 () [33. (0) |34 () |35 (@ [36. (@) | 37 @] 38.() 39 @ | 40. (¢)
AL (b) | 42. (@) |43. (©) |44. ) |45. (@) |46. @ [ 47. (b)) 48.(©) 49. (a) | 50. (b)

STRATAT (ANSWER)

wue-l
Section-li
2180
1. 390
31 45
315
3

. 180T IHIST AT OTTES =2x2x3x3x5Ans.
5w forar fran T 9gUS fin) =622 -Tx-38 |
dl fix) = 6x2 = Tx -3
= 6x2-9x+2x-3
=3x (2x=3)+1(2x-3)
=(2x-3)(3x+1)
fx)=0 =2x-3)(Bx+1)=0
—=2x-3=091, 3x+1=0
—2x =349l 3x=-1
=2 =349l 3x=-1

3 1
=x= z'ﬂT, x =-3

S0 UPR 62-7x-3D YEF 2 AR -3 T 1 Ans
3, g8f a=3,d=8-3=5,1=253TAT n=20

. FRM ug § ndf UK = {I-(n-1xd)

. gifgw Tg ¥ 20 aT 9€ ={253-(20-1) x5}

= {253-19x5}
= 253-95
= 158
(10)

e

https://www.evidyarthi.in/



59 YHKR Id 4 adise 20dT 9g =158 Ans.
4. mﬂmﬁsﬁﬁAﬁﬁﬂ‘W(s,l)mBa}ﬁz’W@,z)% | 71 foran v y e W
afie famg P Pdai® (0,)F |

PA =PB
PA2 =PB? PO.y)
(0-52+ (- 12 =0- 4+ -2
25+ (2 -2+ 1) =16+ —-4y+4)
26 +y2—2y—y* +4y-20=0
2y+6 =0
2y =-6 AGD B (4,2)
y=-3
arfre fa=g =(0,-3) Ans.

5. w form 5 3445 @ uRdg W 8,
ar 3+v5=E qﬁpmqmqyﬁmawp,qﬁaﬁéwﬁswﬁsqﬁ% |

q

O | | R V=

- \/5 :%—3

4fr pailk it &, (2-3)ww aRda v d

aa: (5 @ uRkdYg e 2|
g 5 U@ IURTg wear 81
- eard "raan T § |
qd- 3++5 WWW‘F‘&% |
zufay 3+45 o IuRAY et @ | uifad g |
6 wlsbrsc—0d W Y Y TABE N A P W Tl a=3,b=-2 =1
fafyaar (discriminant) =b? - dac

=(—2)2 -4 % 3X%

=4-4
=0 Ans
7 = G @ b, A W xS €. = GEAR B LOTEE
= 18 x oo = 18 x 504
18 x 504

= ao ﬂ. = 18

m <l Ha =504 Ans.

(1)

'
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10.

11, .-

31 31
16X25 = 2x2x2x2x5%S

31
= 2% 52

TET X 2"5" P ©Y BT & |

¥ s @& |19 & | Ans.

a1 feran & fay ¢ fag Aak B &1 Fdwie waer (6, 3) 9@ (4,5) @ |

BT (x; =6, y, = 3) TAT ° ° °
(y=—4,y,=528 | A(6,3) P y) B (-4, 5)

T g m=3TAaT n=2

a1 faan & apfie fasg @ Adwns po,y) @ |

Ao (mxy+nx))  (my, +ny)
A 4 x = {m+n) ¥ = (m+n)
[Bx(-=4)+2x6]  (3x5+2x3
= Y=y YT (e
= _=12412 15+6
Y=ETT5 YT
= x =0, y=-25—1

a: e faeg & Frdeie = (02 ans.

fear ar @ f& AABC® qolr BCWR DaiE fawg @ 3k ZADB = £BACTH Rrr 2 ¥

CAZ=CB.CD
AABC 3R AADC H A
ZBAC = ZADC (feam i @)
£C = £C (SHafrea)

I PIVT—HIVT FHGYAT
AABC ~ AADC B D cC
AC _BC
CDh AC

= ACZ=BC.CD

= CA%=CB.CD uifad garm |

cotA=tan B

= tan (90°-A)=tan B “ fcotO=tan(90° -6)]

= 90°-A=B

= A +B =90° Proved.

(12)
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12. 9 feran f& AABC gwaTg Prgst @ fresi AB=BC=CA=2a A
A¥ AD,BC W @d STdTl |
dl RHS 99 THHdar ¥ AABD = AADC

.. BD=DC=a 2a 2a
HHSDIOT AABD ®
AB2=BD? + AD? B "
= (2a)? = (@)? + AD? s
= ADZ2=4a42-a?=34
= AD= \Ea
3ra: Brger it arfise e = /3 2 Ans.
13. X; f; x; Xf,-
3 7 35
10 p 10p
15 8 120
20 4 80
25 5 125
Y fi=24+p | 3 fix;=360+10p
_ Y fix
X = Zﬁ
360+10p _
= =—247(-.-W(x)=14)
= 14% (24 +p) = 360+ 10 p
= 336+ 14p = 360+ 10 p
= 14p — 10p = 360 - 336
: — E ot
P - 4 —
p = 6 Ans.
14. 9FER . 0
OA =13 cm @ 13cm
AP=12cm
Z0PA =90° P 12cm A
AOPA ®
qIZATIRG 93y 9,
OA? =0OP? + PA?
N (13)2 =(OP)2 + (13)?
= (OP)? =(13)2 - (12)2
= OP2 =169 - 144 =25
= OP = 25=5
gd @ e o1 =5cm. Ans.

13)
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15, sin(A-B)=5 = sin (A~B)=sin 30° [sin30°=1]

SUA-By=3° 00 e @)
COS(A+B)=% = ¢os (A + B) = cos 60° [-,-coseo°=%]
s A4B=60° s (ii)
g, () @ (i) B e W
24 =90°

gl @) ¥ A=45°T@H W,
B =60° - 45°=15°
9 UBR, A =45° T B=15° Ans.

Woxay=1d (i)
Xoy=4 T (i1)
@l @A x=4 sy e (iii)

x=d+y®l a9 @i O F @ W,
. 4+y+y=14
= 4+2y=14
= 2y=14-4=10
:>y=-122=5
y®T 7F L (i) ¥ vE W
. x=4+5=9
ardIsc &l x =9 AT y=>5 Ans.
17. w41 forar & s = gHa aRkem
E—3i® 2 @ U< A B "l
n(S) =6, n(E)=4

nE) _4_2
P(E) = n(S) —6—3A1‘IS.

18, agA® T 3040 2 FAYFp gEa aRARAr WAt 2 |
fo—f- :

o

W, l= 30,f0 = 22,f_1 = 8,f1 = 20
i =10
22-8 "
gl =30+ 3%22-8-20

14
=30+ 16 x10

35
=30+ i

(14
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= 30+8.75=38.75

Il §gd®  =38.75Ans.
19. 4cot245° + cos?45° — 2sin30° = 4(cotd5%)2 + (cos45°)2 — 2 sin 30°

1Y 1
= 4X(l)2+(5] —ZXE

1
| = 4+2—1
i
‘ _ 8+1-2 7
! = > —2Ans.

20. fag g AT fasg = & |
afe 59§99 aral S &1 &3%d 0 8l |
T MY =g A(-1.5,3), B(6,-2) 31X C(3,4 9 11 a1l ¥ ABC &1 dael—
BT x;=—1.5,y,=3,%,=6,y,=-2 QAT x3=-3,y; =4

4 %[Jﬁ =)+ (3 =) +x3 (v —nll

(-1.5)(-2)-4+6(4-3)+(-3)(3—-(-2)]

NI»—-

%[( 1.5)x(-6) + 6 %1+ (-3)x3]

= 219+ 6151 =2[15-15]=0

AABCHH&%W =0

3ra: fag wv fa=g weeEh 21
21. 9 foar f6 s =a+t w99 gRomw
E = §¢d G daq @1 "geAr
n(S) = 20, n(E) =4

n(E) _
PE) =5~ 20 sA

22, 91 f& O g1 BT D= & TUT ABU® TH 2 | 39 ATAT B UX W &1 PQ TAT RS

ﬁ%mmwwwﬁwﬁmﬁmmmm
P Q
N
Ce
90°
R B 3
(15)
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ard: OA LPQ @2l OB LRS
.. /QAB =90° TIT £RBO =90°
9 YPR THIAR BV, ZQAB = ZRBO=90°
.. PQIURS
3 YE@1¢ pQ @ RS UHHIaY 2 | arfad g3 |
23. 91 R f avaTg, B @ 9@ qoll acm @ |

wHaTg, St &1 AAd = [IJ
By

4

o e A e

17320.5

17320.5 x 4
3

_ 17320.5x4
1.73205
= 40000
a = 40000
= 200cm
. {HATE AABC B lﬁﬂﬁi ST =200 cm

U
=]
i

(+[3=1.73205)

R U/ VY

It B3rs9r () = —2—=100 cm
ardise SFBd = (AABC ®T &%) - 3 x (reaasl @i gAbd)
= (AABC @T &9bel) —3x(§£.;xnr2]

78], AABC ®T &9%d = 71320.5 cm?
0 =60° r=100cm,n=3.14

[17320.5-3 x (%xs.mxloo x 100)] .

(173205~ 157 x 100) cm?
(173205 - 15700) cm?
1620.5 cm?

3q: apfise BTAIfPT ATT &1 &A% = 1620.5 cm?
41 (Or)
mi%mmcﬁﬂm%am&cﬁﬁﬁ%wwwwﬁ%m@ﬁﬁm
7ig @ Bow e 2 |

59T = =x4cem

= 2cm

(16)
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2 3 1 2
31|:r+311:rh

2
= T-Q@r+h)

= 2cm,h=2cm

3.14 x(2)°
= [——Sg—(2x2+2)} cm?

3.143><4 <6 cm?

3.14 x 8 cm3 =25.12 cm® m
mqﬁm%ﬁqwmiﬁqﬁwaﬁméﬂﬂwm% |
59 dageia 3o @ IAER B Far =HP=B0O=2cm
T SEDT HAg =AO+OP=(2+2)cm=4cm
a-elqﬁ’maaﬁmarmm =7 r2h
—314x(2)2x4cm
=16 x 3.14 cm?
=50.24 cm?
ara: aifed A ~¥iq gefia Ao BT ATEGA—TEE BT AT
=50.24 cm3 - 25.12 cm?
=25.12 cm?

39 YHN SFl AT BT A =25.12 em3®  |Ans.

sin@—2sin" 8

4. HS. =
2 LH:5 2cos3 0—cosB

sin@(1—2sin> 6)
cose(2c0s29—1)

[1 2(1- cos 0)]

— tan® s ein20 = 1 — cos?
(2cos o_1) [ sin“® = 1 — cos<0]
_ tan® (2c0s 0-1)
(2cos 6-1)
= tan & = R.H.S. Proved.
44T (Or)

19 forar |99 @) S 918 =CD=10cm
elar 9l Ewiﬂ'{ =AB=xm
Hq= a7 cfa¥ & 99 @1 g8 =BD=ym

17
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- EB=CD=10m

BD=CE=ym
AACET,
o . AE
tan 60° = CF A
AB—EB
B o= /»60"/
CE E
CR 450 ym
x-10 xm
= x-10 = 3y (D)
e, ABCD ¥, b *
o _ €D
tan45°¢ = BD
10
= 1 = y
y = 10m
. (DH y&T 91 @ W,
. x-10= 3 x10

= x=1043 +10

= x=10(3+D)m

3d: aise SfaY @ SHATE = 10(\3+1)m Ans.
25. x+y=37UT 3x-2y=4

'\‘I"flﬂﬂ'“Tx+y=3'\‘?l

= y=3-x (1)

. () H 79 9Ref

x|0{-113{2
3] 4[0]1

Y WIHROT 3% - 2y=4
= 2y=3x -4 Xe

Acd: Bl x=2 v
y=1Ans.,

(18)




26.

AT (Or)
u foram 5 geeh wear x 2 a1 gEd W& 16-x 8l |

11
9 x AT 16—x B HHH FRE g5 © |

1 1 1
YR, }+16-x = 3
16—x+x 1
= x(16-x) " 3
= 16x3 = x(16-x)
= 48 = 16x—x?
= x2—16x+48 = 0
= x-12x-4x+48 = 0
= x(x-12)-4(x-12) = 0
= x-12)(x-4) = 0
= x-12=09T x-4=0
= x=1291 x=4
x = 12,4

W x =12, gEel WAl = 12, §UN) AT =16-12=4

W4 x=4, U8cll W& =4, O WE&AT =16-4=12

9 Yo afie wed 123k 48 |

AT fr fb ABCU® A @ | 3T BC® §Hiak Y@ DE AT | Y& DE,AB 3R ACH
wae: fag DR EWR yftreds ol 21

Rg AD_AE
P & T DB EC
- DY DM T E § EN @4 599 ACGAT ABTR ©Tdl | B & E® 9T C®I D

¥ e |

UHTW—AADEWGW:%XW x ST
=%><AD><EN
aﬁ\'ADBEWﬁW:%xDBxEN
1 ADXEN
AMDE® §%d 2 _AD .
ADBE® &%~ Llyxppxen DB » (1)
f5Y, AADE &7 83%d = %xAExDM

(19)
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Tl ADEC BT & 9%d x ECx DM

P I | ST Y

AADE %1 & 2 XAEXDM 4
ADEC &1 &% = x ECxDM €< . 2)
.- DEIIBC
.. ADBE %T &% d = ADEC 83F%d, FaifH <91 1w va € amar 3l gaiax el
ddaAE |

£ AADE &1 85%a 3 AADE =71 &5%a
AT ADBE w1 &amet  —  ADEC &7 83%d

(Ham ()|

AD AE
D = Ec aNed g |

DB

Y4qr (Or)

I & TROT:

(i) € g qorel q AABC @l Y941 B30 & | R BC =69 AB=49l. Ik AC
=549, 2 | BX (& Y@Es ©iar wafh ZCBX UF =Y+ HIoT & |
(i) BXOUR dIF 9RMEX @s BIeT |
BB, =B,B, = B,B,
(i) B, femar sk B, ¥ B,C'1B,C &) &iar wit 9817 ¢ BCH C ¥ fiad @ |
(v) fag c| cancadiE W) 91 ¢ BAY A W faadt 2

a9 A ABC'afise Prge a1 Rwrah qend A ABC® ol @ 2 T 2 |

(20)
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